

$$\lim_{x \rightarrow 2} \frac{x^2 - 0}{x^2 + ax + b} = -\infty$$

$$x^2 + ax + b = 0$$

$$(x - 2)^2 = 0$$

$$x^2 - 4x + 4 = x^2 + ax + b$$

$$a = -4 \rightarrow a + b = 0$$

$$b = 4$$

→ صورت  $2(2) - 0 = 4$   
که چون جواب کل  $-\infty$  می‌دهد پس  
حاصل عبارت  $0 \neq 4$  است

$$\lim_{x \rightarrow (\sqrt[2]{14})} \frac{x}{x^2 + ax + b} = +\infty$$

$$x^2 + ax + b = 0 \rightarrow (x - \sqrt[2]{14})^2$$

و از طرفی  $0 \neq 14$  است.

$$x^2 + \frac{14}{\sqrt{14}} - 2x\sqrt{14} = x^2 + ax + b$$

$$a = -2\sqrt{14}$$

$$\left[ \frac{b}{a} \right] = \left[ \frac{\frac{14}{\sqrt{14}}}{-2\sqrt{14}} \right] = \left[ \frac{14\sqrt{14}}{-2 \cdot 14} \right] = \left[ -\frac{\sqrt{14}}{2} \right] = -1$$

$$\lim_{x \rightarrow (\frac{1}{\sqrt{\mu}})^+} \frac{[-x] + a}{\left| \frac{\sqrt{\mu}}{\mu} x + a \right| + a} = -\infty$$

$$\left[ -\frac{1}{\sqrt{\mu}} \right] = -1$$

$$\lim \frac{-1 + a}{\left| \frac{1}{\mu} + a \right| + a} = -\infty$$

$$\frac{[-x] + a}{\left| \frac{1}{\mu} + a \right| + a} = -\infty$$

$$\frac{a-1}{\frac{1}{\mu} + a} = -\infty$$

(y)

$$[a] = \left[ -\frac{1}{\sqrt{\mu}} \right] = -1$$

$$\frac{1}{\mu} + a = ?$$

$$a = -\frac{1}{\sqrt{\mu}}$$

$$\frac{1}{\mu} + a = ?$$

$$a = -\frac{1}{\sqrt{\mu}}$$

$$\lim_{x \rightarrow (\frac{1}{\sqrt{\mu}})^+} \frac{19x - \left[ -\frac{\sqrt{\mu}}{\mu} \right]}{\sqrt{\mu}x + \left[ \frac{\mu}{\mu} \right]} = \frac{19x + 1}{\sqrt{\mu}x + 1}$$

$$x > -\frac{1}{\sqrt{\mu}}$$

$$x \rightarrow \frac{1}{\sqrt{\mu}} \rightarrow \infty$$

$$\frac{1}{\mu} \rightarrow \infty \rightarrow \frac{\mu}{\mu} \rightarrow 1$$

$$\left[ -\frac{\sqrt{\mu}}{\mu} \right] = -1$$

$$\frac{\sqrt{\mu}}{\mu} \rightarrow 1$$

$$-\frac{\sqrt{\mu}}{\mu} \rightarrow -1$$

$$\frac{-1 + 1}{-1 + 1} = \frac{0}{0} = 0$$

(y)

$$\lim_{x \rightarrow 1} \frac{x^{\mu} - 1}{x^{\mu} - 1} = \frac{(x-1)(x^{\mu-1} + x^{\mu-2} + \dots + 1)}{(x-1)(x^{\mu-1} + x^{\mu-2} + \dots + 1)} = 1$$

$$= \frac{\mu}{\mu} = 1$$

(y)

$$\lim_{n \rightarrow \infty} \frac{n^r + 1.2n^{r-1} + \dots}{1^r + 4\sqrt[n]{n}} = \frac{(n+1)(n+r)}{4(r+\sqrt[n]{n})} = \frac{(\cancel{n+r})(\sqrt[n]{n} + r)}{\cancel{4}(\sqrt[n]{n} + r - r\sqrt[n]{n})}$$

$$= - \frac{1}{r} + C$$

$$\lim_{\alpha \rightarrow \frac{\pi}{2}} \frac{\sqrt{r + r\alpha} - \sqrt{r - \alpha}}{\sqrt{1 - \cos \alpha} - \sin \frac{\alpha}{r}}$$

$$\sin^2 \frac{\alpha}{2} = \frac{1 - \cos \alpha}{2}$$

با توجه به رابطه  $\sin \alpha \rightarrow \alpha$

$$\frac{K + \cos(\sqrt{a} \alpha)}{K \alpha^2} = \frac{\%}{100} \xrightarrow{\text{HOF}} \frac{\sqrt{a} (1 - \sin \alpha)}{r_{Km}} \xrightarrow{\text{HOF}} \frac{\sqrt{a} (1 - \sin \alpha)}{r_{Km}}$$

$$K + \cancel{\cos(0)} = 0$$

天  
地  
人

19

$$V_1 = \alpha \alpha^T$$

$\frac{1}{\sqrt{2}}$

$$\sin^2 \alpha = 1 - \cos^2 \alpha$$

Scanned with CamScanner

$$K = -1 \rightarrow \frac{a}{K} = -a$$

فرضه که  $K = -1$  باشد  
 در این صورت  $\frac{a}{K} = -a$  می شود

$$K + 1 - a \rightarrow \frac{K}{K+1-a} = \frac{1}{1-a}$$

$$K + 1 - a \rightarrow \frac{K}{K+1-a} = \frac{1}{1-a} \rightarrow a = 1$$

$$\sin \alpha \rightarrow \alpha$$

$$\cos \alpha \rightarrow 1 - \alpha^2$$

$$\frac{r \sqrt{a - r a} + r \sqrt{a - r} \sqrt{r a}}{\sqrt{a - r a} r} = \frac{r \sqrt{a - r a} + r \sqrt{a - r} \sqrt{r a}}{r \sqrt{a - r a} + r \sqrt{a - r} \sqrt{r a}}$$

$$= \frac{r}{\sqrt{a - r a} + r \sqrt{a - r} \sqrt{r a}}$$

$$\frac{r}{\sqrt{a - r a}} + \frac{r \sqrt{r a}}{\sqrt{a - r a}} = \frac{r \sqrt{r a}}{\sqrt{a - r a}} = \frac{r \sqrt{r a}}{\sqrt{a - r a}} = \frac{r \sqrt{r a}}{\sqrt{a - r a}}$$

$$= \frac{r \sqrt{r a}}{\sqrt{a - r a}} = \frac{r \sqrt{r a}}{\sqrt{a - r a}} = \frac{r \sqrt{r a}}{\sqrt{a - r a}}$$

$$\lim_{a \rightarrow -1} \frac{1 - K[a]}{a^2 - 1} = -\infty$$

$$(K \pi, \cos K \pi) \rightarrow \text{not}$$

$$a \rightarrow (-1)^+ \rightarrow 1 - K[a] > 0$$

$$a \rightarrow (-1)^- \rightarrow 1 - K[a] < 0$$

$$1 + K > 0$$

$$1 + K < 0$$

$$-1 < K < -\frac{1}{2}$$